C:# Simplifying Expressions

Name:

Simplify each expression by combining like terms.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

-8y°-14x-5x

11y +3+14-7y +1y’
14y +12y*-3y*
4-9y5-12x+9+1x
-13y-6y+9y+13y
-2y3-1y3-102
5x%-1y°-4x°+11y°>+15x-10x"
“7x-4x +6+11x
12x°-13y°-4y°>-15+1y°
1x+6x7-122

5x°-2+2+3x +15x°+13y"
-62-10z- 12y2- 1x"-32- 1y2
-12x°-6x°-142-127+8x°

- 1Ox9+ 10z+ 1Oz-3x9+ 11z

10.

11.

12,

13.

14.
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Simplifying Expressions Name: Answer Key
Simplify each expression by combining like terms. Answers
1) 5
-8y°-14x-5x . -8y>-10x
7
-17y +17
2 _11y"+3+14-7y +1y” 2 y
4
3, -oy
3 _avti1ovtav
14y +12y -3y . 13_9y5_ 11x
K 4-9y5-12x+9+1x > %y
6. -3y3-102
5 -13y-6y+9y+13y
7. —19x2+10y3+15x
® oy31y° 107 8. Ax-4x"+6
D 2 s s , 0. 12x°-16y™-15
-5x7-1y -4x +11y +15x-10x ,
10, Ix+6x -12z
8 7x-ax"+6+11 5 9
- (X-4X X 11. 23X +O+13y
-197-13y°-1x"
9 10x°-13y%ay®15+1y° 12 Y
s -10x>-267
10) 7
Ix+6x -12
X+6x z 14. -13X9+31Z
) 5y5 242+3x°+15x°+13y°
12) -6z-1Oz-12y2-1x4-32-1y2
B 12x°%-6x%-14z-12z+8x°
14) -10x9+1Oz+1Oz-3x9+1lz
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